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Use the template provided to write and solve each equation given within the word problem.

Jake has 2|9 toy cars, and his brother gives him 286

more. How many toy cars does Jake have in total?

Lily has 136 balloons, and she gets 284 more from her

friend. How many balloons does Lily have now??

Ezra has 562 marbles, and he receives 198 more from

his friend. How many marbles does Ezra have in all?

Liam has 546 stickers, and he buys 256 more at the

store. How many stickers does Liam have in total?
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